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10°C ObY Ob 18c 66b 95a 95a
15C Ob 75a 98ab 98a 98a 98a
20°C 5b 8la 100a 100a 100a 100a
25C 15a 63a 78b 83ab 83a 83a
30C Ob 9b 9c 10c 15b 15b
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Y: Means in the same columns with a different letter are significantly different
at P<0.05 by LSD test
2P EREIFRPFFTEATRT LEE
PR
2 4 6 8 10 12 14 16 18 20 22 24

4°C 99a” 95a 98a 99a 95a 99a 90a 89a 98a 99a 98a 8la
10°C 98a 93a 96a 99a 91a 91b 79b 75b 78b 65b 50b 30b
4% 9a 91a 85b 26b Ob Oc Oc Oc Oc Oc Oc O

# Means in the same columns with a different letter are significantly different
at P <0.05 by LSD test




